C] O ) D () D ) Y ) O U DD ) WD L) SR () S T D [ s )

[B](1][N][a][1][R][O]

Follow the rules to complete the grid

i

0

0lo] 1 ol1]1]0] 1 1ol 1] 1 !
ol 110 11olol| 1] 1 11110/ 1 I
oo oo oo+ [e] ¢
o Joft]ofo|1|t]of[1]1]ofo]1]T l
0
o|1]of1[1]ojof1]ofo|1|1]0]" |
Jefolofol ol ol io]
oJoft]of[1|1|of1]o]1|1]0o]0]T '
0

1] 1o 1]oft]ofo|1fofof[1]1 |
tjoftfoft1]oj1jofrfo]t]1]0 ;
ool tjoft]of1]1]o]o]" i
i

0

i

i

i

0

i

i

| I

o | O

1frjoffrjofojijoltjojolt
1ol t]jolrftjoftiojofijo

Of(1 1101 1T 1|01 0 [ T 0 [ T
1111011110110 110 110

How to play

Complete the grid using the following rules:

o | O

There are as many digits 1" as digits "0 in every row and every
column

No more than two adjacent cells may contain the same number
Each row Is unique, and each column is unique

Tutorial: visit the link below
https://puzzlebreaks.com/Binairo/
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